D = a very nice book "Comex Figures" Yashm. Used at Moscow State. Convex functions are very much related to the Convex $U_{f} := \left\{ (x, z) \in \mathbb{R}^{n} \times \mathbb{R} \right\} = \left\{ f(x) \right\}$ bodies is a convex body (1- t) (x1, 21) + t (x2, 22) EUF Since $(1-t) z_i t t z_2 \geqslant (1-t) f(x_i) + t f(x_2) \geqslant f(t) x_i + t x_2)$ "f convex" => f is would Lipschit => f < W here Hence Df - the distributional derivative is L[∞]. Theorem 6.9 f: IR > IR is convex. Then $\int f(y) - f(x) - Df(x) (y-x) - \frac{1}{2} (y-x)^T Df(x) (y-x)$ $= o\left(\left|y - \varkappa\right|^{2}\right) \quad \text{an } y \to \chi$ $a, e x \in \mathbb{R}^{n}$ Before we prove the thin we need to make sense of Df (sr). (A) This is NOT the distributional derivative of 5! Since f is Lipschild \Rightarrow $f_i = \lambda_i f \in L_{inc}$ \Rightarrow fi \in Line Hence fights needs some deliberations.

 $B_{y}RM \implies \forall V \in S^{n-1} \implies$ $L_{y}(\phi) = \int \phi \ du^{V} \qquad u^{V} \ is \ a \ Redon \ measure!$ $\implies \mathcal{M}^{ii'} = \mathcal{M}^{e_{i'}} \qquad V = \frac{e_{i} + e_{i'}}{\sqrt{2}}$ $\implies \mathcal{Z} \phi_{kj} V^{k} V^{k} = \frac{1}{2} \mathcal{Z} (\phi_{x_{i}x_{i'}} + 2\phi_{x_{i}x_{j'}} + \phi_{x_{j}x_{j}})$ $\implies \int \int \phi_{x_{i}x_{j'}} = \int f(\phi_{VV} - \frac{1}{2}\phi_{ij})$

 $= \mathcal{U}_{\mathcal{U}}^{i} = \mathcal{U}_{\mathcal{U}}^{i} - \frac{1}{2}\mathcal{U}^{i} + \frac{1}{2}\mathcal{U}^{i}$

Clearly
$$(u^{ij})$$
 is a $\geqslant a$ metrix of measures.
Namely $u' = \sum (u^{ij}) V^{i} V^{j}$ is a positive measure.

Now we may make sense of the derivative of
$$\int k$$

$$\int \int \int h div(\phi) = \int \int \int h \partial \phi_{x_i}^{i} = -\int \int \int \partial \phi_{x_ix_h}^{i}$$

$$= -\int \phi^i d\mu^{ih}$$

Here
$$L_{k}(\phi) \leq C \geq tuil(K)$$
 if $\phi \in C_{e}^{1}(\mathbb{R}^{7}, \mathbb{R}^{5})$
spt $\phi \in K$ ($\phi \mid \leq 1$
 $\Rightarrow \quad f_{k}$ is a BV function
by RM- essentially the definition!
 $\bigcirc \quad \mathcal{M}_{ee}^{5} = \quad S_{3} dn \qquad \mathcal{M}_{s}^{5} - \quad the simpler part of \mathcal{M}_{s}^{5}
 $\mathcal{M}_{ee} = \quad S_{3} dn \qquad \mathcal{M}_{s}^{5} - \quad the simpler part of \mathcal{M}_{s}^{5}
 $\mathcal{M}_{ee} = \quad S_{3} dn \qquad \mathcal{M}_{s}^{5} - \quad the simpler part of \mathcal{M}_{s}^{5}
Now $D_{s}^{5} = \quad f_{s}^{5}$.
Now $D_{s}^{5} = \quad f_{s}^{5}$.
Namely in Alexandow's theorem $D_{s}^{5}(x)$ is the
regular part of the distributional derivative of f .
 $\begin{bmatrix} D^{2}S \\ d \end{bmatrix}_{d} - \quad mecns\left(\mathcal{M}_{s}^{5}\right) - \quad the Radon \quad measure$
 $\begin{bmatrix} D^{2}S \\ d \end{bmatrix}_{d} - \quad mecns\left(\mathcal{M}_{s}^{5}\right) - \quad the Radon \quad measure$
 $\begin{bmatrix} D^{2}S \\ d \end{bmatrix}_{d} = \quad (f_{s}^{5}) \qquad [D^{2}S]_{s} = \quad \mathcal{M}_{s}^{5} - \quad the singular part of [D^{2}S]_{d}$.$$$

(2) Proof of the Thun 6.9
(i)
$$\forall a.e \times \int_{1}^{1} \int_{1}^{1} |Df(y) - Df(x)| = 0$$

(ii) $\int_{1}^{1} \int_{1}^{1} |Df(y) - Df(x)| = 0$
 $f(y) \int_{1}^{1} \int_{1}^{1} |Df(y) - Df(x)| = 0$
(iii) $\int_{1}^{1} \int_{1}^{1} |Df(y) - Df(x)| = 0$
(iii) $\int_{1}^{1} \int_{1}^{1} |Df(y)| = 0$
(iii) $\int_{1}^{1} |Df(y)| = 0$
(iii) $\int_{1}^{1} |Df(y)| = 0$
(iii) $\int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iii) $\int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| = \int_{1}^{1} |Df(y)| = 0$
(iv) $f(y) \int_{1}^{1} |Df(y)| =$

This shows

$$H^{2}(y) = \int_{0}^{1} \left[(1-s) \left(g^{T} \ D^{2} f^{2}(s_{1}) \ g - g^{T} \ D^{2} f^{2}(s_{2}) \ g \right) \right] ds$$

$$\int_{0}^{2} J^{2}(s_{2}g) \rightarrow D^{2} f^{2}(s_{2}g) \rightarrow D^{2} f^{2}(s_{2}g)$$

$$\int_{0}^{1} J^{2} f^{2}(s_{2}g) \rightarrow D^{2} f^{2}(s_{2}g) \rightarrow D^{2} f^{2}(s_{2}g)$$

$$\int_{0}^{1} J^{2} f^{2}(s_{2}g) \rightarrow D^{2} f^{2}(s_{2}g$$

$$\begin{array}{l} \text{Prive} \int \circ f\left(\star\right) \\ \int \varphi(y) \ H^{f}(y) = \int_{0}^{1} (1+s) \left(\int \varphi(y) \ y^{T} \left(\frac{1}{p} f^{\xi}(y) - Df^{\xi}(y) \right) y^{\xi} dy \right) dy \\ = \int_{0}^{1} \int_{0}^{1} \frac{(1+s)}{s^{s}} \left(\int g(y) \ y^{T} \left[\frac{1}{p} f^{\xi}(y) - Df^{\xi}(y) \right] z^{\xi} dz \right) dy \\ \text{Le t} \\ \int \varphi(\frac{z}{s}) \ z^{T} \ D^{2} f^{\xi}(z) \ z \ dy \\ \int g(rs) \end{array}$$

$$\begin{split} & \int_{0}^{1} \frac{(1+s)}{s^{s}} \frac{1}{s(s)} \left[\hat{\delta}_{t}^{(s)} - \int_{0}^{1} \frac{\varphi(\frac{s}{2})}{s^{s}} s^{T} \tilde{b}_{t}^{fs} z^{s}} \right] dz \\ & = \int_{0}^{1} \frac{f^{s}(z)}{s^{s}} \left(\sum \left[\frac{\varphi(\frac{s}{2})}{s^{s}} z^{s} z^{s} \right] \right) dz \\ & \hat{\delta}_{t}^{(s)} = \int_{0}^{1} \frac{f^{s}(z)}{s(s)} \left[\sum \left[\frac{\varphi(\frac{s}{2})}{s^{s}} z^{s} z^{s} \right] \right] dz \\ & \hat{\delta}_{t}^{(s)} = \int_{0}^{1} \frac{g(z)}{s(s)} \frac{f^{s}(z)}{s} \sum \left[\frac{\varphi(\frac{s}{2})}{s^{s}} z^{s} z^{s} \right] \frac{dz}{z(s)} \\ & = \int_{0}^{1} \frac{\varphi(\frac{s}{2})}{s(s)} \frac{g(z)}{s(s)} \sum \left[\frac{\varphi(\frac{s}{2})}{s^{s}} z^{s} z^{s} \right] \frac{dz}{z(s)} \\ & = \int_{0}^{1} \frac{\varphi(\frac{s}{2})}{s(s)} \frac{g(z)}{s^{s}} \frac{z^{s}}{s^{s}} \frac{g^{s}}{s(s)} + \frac{\varphi(\frac{s}{2})}{s(s)} \frac{g(z)}{s(s)} \frac$$

Hence
$$\begin{aligned} \int_{B(r)} f_{(q)} h_{(h)} &\leq C r^{2} \int_{0}^{t} \left(\int_{B(r_{2})} |Df(q)| + \frac{|ft|f|}{(r_{1})^{n}} \right) ds \\ &= o(r^{n}) \qquad \text{as } r \rightarrow o. \end{aligned}$$

$$\begin{aligned} This proves (X). \\ \hline(3) \quad Pro \cdot \int_{0}^{r} o \int_{0}^{r} subclaim & \int_{0}^{r} simiching the argument. \end{aligned}$$

$$\begin{aligned} (A) \quad \int_{B(r_{1})} |h|(q)| &= o(r^{n}) \\ B(r_{1}) \quad h(q)| &= o(r^{n}) \\ Nemely \qquad |h|(q)| &= o(r^{n}) \\ Nemely \qquad |h|(q)| &= o(r^{n}) \\ \text{in aurage have.} \end{aligned}$$

$$It s \cdot flices to get estimate for $\psi \quad \psi \in C^{\infty}_{c}(B(r_{1})) \\ (\psi|s|) \\ since one many eprediments \quad Sj^{n}(h) \quad hy \quad \psi \\ \hline(B) \quad \exists C \\ Sup \quad |Dh| \leq \frac{C}{r} \int_{B(r_{1})} (h|d_{1} + Cr) \\ B(R) \\ Recall. \quad h = \int_{1}^{r} (q_{1}) - Df(q) \quad g \rightarrow f(q) \\ h + \frac{C}{r} |g|^{n} \quad is convex. \\ Since \quad -f(q) - Df(q) \quad q \rightarrow f(q) \quad g \rightarrow f(q) \\ \end{bmatrix}$$$

Now by the 67

$$\sup_{B(f)} \left[D(h + \frac{1}{2}|9|^{1}) \right] \leq \frac{C}{r} \left(\int_{B(f)} |h| + \frac{1}{2}|1|^{1} \right)$$

$$B(f)$$

$$C \quad \sup_{B(f_{2})} |h| = o(r^{1}) \quad cs \quad r + o$$

$$B(f_{3}) \quad f \quad cs \quad r + o$$

$$B(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + o$$

$$F(f_{3}) \quad f \quad cs \quad r + f \quad cs \quad r +$$

If
$$B(y, e\eta^{t}r) \cap S = \phi \implies B(y, e\eta^{t}r) \subset S$$

 $\implies [S] \geqslant 2d(n)\eta r^{n}$
Hence $\implies \exists z, \qquad [h|iz) < 2r^{2} \qquad z \in B(y, (2\eta)^{t}r)$
But $[h_{1y}] \leq [h_{1z}] + [h_{2} - h_{1y}]$
 $\leq 2r^{2} + C(2\eta)^{t}r^{2} \leq 2Er^{2}$